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BEHTILTREE
[ —#&DER ] [ V=7 - LTARADER ]
JIEAZ K £ NET HDCP TOTAL ouT I'N OUT NET JE{Z K 4 NET HDCP TOTAL ouT I'N OUT NET
B B AE %= 68 21 89 ( 44 45 ) 33.5 - I N 74 9 83 ( 44 39 ) 39.5
2 HVH EEtE 74 15 89 ( 46 43 ) 385 of  HE B 75 6 81 (40 41 ) 370
L T EfT 75 26 101 ( 58 43 ) 45.0 3 HERA 77 13 90 ( 48 42 ) 415
AT RE LB 76 20 96 ( 47 49 ) 37.0 4 HER B— 78 15 93 (48 45 ) 40.5
56 UK EH 77 14 91 (45 46 ) 38.0 51 f&H T 79 15 94 (46 48 ) 38.5
6t A =H 77 4 81 (41 40 ) 390
76 -8 EC 78 28 106 ( 53 b3 ) 39.0
8hL kAR ME 78 12 90 (46 44 ) 40.0
O A —& 78 12 90 ( 48 42 ) 420
10 sk B 79 20 99 (48 51 ) 38.0 10 EM Y 82 11 93 (47 46 ) 415
200 k4K Bth 81 6 87 (47 40 ) 44.0 206 ®E TE 86 24 110 ( 52 58 ) 40.0
306 EH HFHi 85 26 111 ( 53 58 ) 40.0 306 FEF HEZ 93 17 110 ( 56 54 ) 475
4061 @ BH 88 18 106 ( 52 54 ) 43.0
BBE &I BE—EB 97 14 111 ( 58 53 ) 51.0 BBE  FEB HFA 97 28 125 (60 65 ) 46.0
BGE M= &F 81 (40 41 ) Par 72 a—XL—k  2O—FL—k
BH(EF) 6606 vyard 71.3 128
BiE(R) 6,237  yard 69.5 123
B(£) 5892 vyard 68.1 119
B(%) 5,281 yard 64.9 114
ZtE(%) 5,281 yard 70.1 123
ZE(FR) 4878  yard 67.8 119




